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Question Answer Mks AO Guidance
i | () |a+ %(c—a) or c+ %(a—c) M1 31a |a+ %their(a) orc—%their(a)
= % (a+c) or % a+ % c Al 1.1b Correct ans without wking: M1A1
[2]
OB=(a+0) PB=a+ % (c—a)ora+ % their (i)(a) orPB=c— % their (i)(a)
(i) M1 3.1a {
orc+ —(a-c¢)
2
= %(aJrc) 0e), ft their (i)(a)
| . . .
NB PB= 3 (a + c) without justification:
MOAOAOEO
oP=108  Must jous i -
=0P = ust see previous line Al 11 —~P=0p or similar with BB or BS
= P is midpt of OB dep* 21
or OPB is a straight line and OP = PB Al '
Hence diagonals of //m bisect one another El 2.2a dep M1A1A1




